

Program Management 512.439.4700 TBPELS F-14256 www.LJAProgramManagement.com 7500 Rialto Boulevard, Building II, Suite 100, Austin, Texas 78735

Waller County 775 Bus 290 East 2000 NW Loop 410 Hempstead, TX 77445

Attention: J. Ross McCall, PE

Invoice Date:

08/19/2024

Invoice No.:

202428948

Project No.:

PM5121-2471

Bill No.: P.O. No.: 207745

INVOICE

Description:

Waller County 2023 Road Bond Program GEC

For Professional Services Rendered: 05/15/2024 through 07/26/2024.

Contract Amount:

\$15,000,000.00

Authorized Amount:

\$3,000,000.00

Invoice Amount:

\$200,241.53

Previous Invoiced Amount:

\$ 0.00

Invoiced to Date:

\$200,241.53

Balance Remaining:

\$2,799,758.47

TOTAL AMOUNT DUE THIS INVOICE

\$200,241.5

This invoice is true and unpaid.

Approved By: John C. Tyler

Mail checks payable to:

Send ACH or Wire payments to:

LJA Engineering, Inc.

Account Name

LJA Engineering, Inc.

DEPT. 803

Name of Bank

Amegy Bank

P.O. BOX 4346

ABA Routing Number

113011258

Houston, TX 77210-4346

Account Number

5795329241

Swift Code

ZFNBUS55

Please email a remittance advice to AR@lja.com



3600 W Sam Houston Pkwy S

713.953.5200

Suite 600 Houston, TX 77042 Fax 713.953.5026 www.lja.com

August 19, 2024

Invoice No:

202428948

For services through 7/27/2024

Bill To:

J. Ross McCall, PE

Waller County

775 Bus 290 East

Hempstead, TX 77445

Questions about the invoice?

Please email Billing@lja.com

Questions about the payment?

Please email AR@lja.com

Project No:

PM5121-2471

Waller County Bond Program Management

Project Manager: John Tyler

Harper, Carrie

Wroblewski, Tanya

M Phase: 901 - Project Design Engineer Coord.				
Professional Services	Billed Hours	Billed Rate	Current Billed	
Project Engineer				
Mcbride, Robert	11.50	\$234.65	\$2,698.48	
Subtotal	11.50		\$2,698.48	
		Tota	l For Phase: 901	\$2,698.48
&M Phase: 902 - Review of Project Plan Submittals				
Professional Services	Billed Hours	Billed Rate	Current Billed	
Engineer-in-Training I				
Kessinger, Kenneth	39.50	\$109.51	\$4,325.65	
Subtotal	39.50		\$4,325.65	
		Tota	l For Phase: 902	\$4,325.65
&M Phase: 903 - Utility Coordination				
Professional Services	Billed Hours	Billed Rate	Current Billed	
Utility Coordinator				
Ramirez, Jose	30.00	\$172.08	\$5,162.40	
Subtotal	30.00		\$5,162.40	
		Tota	I For Phase: 903	\$5,162.40
&M Phase: 904 - Program Management				
Professional Services	Billed Hours	Billed Rate	Current Billed	
Admin/Clerical				

21.00

0.50

\$109.51

\$109.51

\$2,299.71

\$54.76

Billed Hours 5.00 5.00	Billed Rate	Current Billed \$453.65 \$453.65	\$27,438
	Billed Rate	Current Billed	\$27,438
Billed Hours			\$27,438
Billed Hours			\$27,438
	Tota	l For Phase: 905	\$27,438
	Tota	l For Phase: 905	\$27,438
142.50		\$27,438.65	
21.00	\$172.08	\$3,613.68	
24.00	\$297.23	\$7,133.52	
2.50	\$125-15	\$312.88	
32.00	\$234.65	\$7,508.80	
63.00	\$140.79	\$8,869.77	
Billed Hours	Billed Rate	Current Billed	
	ıota		\$159,392
300.30	T-4-		\$4 E0 200
	φ400.00		
7.00	\$452.66	\$3 175 62	
4.00	\$140.79	\$303.10	
4.00	\$140.70	\$563.16	
10.00	\$231-23	\$2,572.30	
40.00	\$007.00	60.070.00	
161.00	\$350.42	\$56,417,62	
34.00	\$234.65	\$7,978.10	
13.00	\$140.79	\$1,830.27	
256.00	\$328.52	\$84,101.12	
	13.00 34.00 161.00 10.00 4.00 7.00 506.50 Billed Hours 63.00 32.00 2.50 24.00	13.00 \$140.79 34.00 \$234.65 161.00 \$350.42 10.00 \$297.23 4.00 \$140.79 7.00 \$453.66 506.50 Tota Billed Hours Billed Rate 63.00 \$140.79 32.00 \$234.65 2.50 \$125.15 24.00 \$297.23	13.00 \$140.79 \$1,830.27 34.00 \$234.65 \$7,978.10 161.00 \$350.42 \$56,417.62 10.00 \$297.23 \$2,972.30 4.00 \$140.79 \$563.16 7.00 \$453.66 \$3,175.62 506.50 \$159,392.66 Total For Phase: 904 Billed Hours Billed Rate Current Billed 63.00 \$140.79 \$8,869.77 32.00 \$234.65 \$7,508.80 2.50 \$125.15 \$312.88 24.00 \$297.23 \$7,133.52 21.00 \$172.08 \$3,613.68

T&M Phase: Z99 - Other Direct Costs

Reimbursable Expenses **Current Billed**

Meals (Internal) \$46.00

Mileage \$678.04

Postage/Delivery \$46.00

Subtotal \$770.04

Current

Total For Phase: Z99 \$770.04

TOTAL AMOUNT DUE \$200,241.53

Contract

Total

Previous

BTD for Total Project \$200,241.53 \$0.00 \$200,241.53 \$3,000,000.00

Mail checks payable to:

Send ACH or Wire payments to:

LJA Engineering, Inc. LJA Engineering, Inc. Account Name

DEPT: 803 Name of Bank Amegy Bank

P.O. BOX 4346 ABA Routing Number 113011258

5795329241 Houston, TX 77210-4346 **Account Number**

Swift Code ZFNBUS55

Please email a remittance advice to AR@lja.com

			Mor	nday, August 19, 20)24 9:09:56 AN
Phase: 901 - Project D	esign Engineer Coord.				
Professional Services		Date	Billed Hours	Billed Rate	Currer Bille
Project Engineer					
Robert Mcbride	T695462	05/29/24	3.00	234.65	\$703.9
Review estimates/sco	ре				
Robert Mcbride	T695462	05/30/24	2.00	234.65	\$469.3
Review Estimates					
Robert Mcbride	T696218	06/03/24	2.00	234,65	\$469.3
review estimates/scop	e				
Robert Mcbride	T696218	06/04/24	2.50	234.65	\$586.6
Estimate review					
Robert Mcbride	T696218	06/06/24	1.00	234.65	\$234.6
estimate review					
Robert Mcbride	T699808	06/11/24	1.00	234.65	\$234.6
Estimate Review					
			Total Ed	r Phaca: 001	62 608 4
			Total Fo	or Phase: 901	\$2,698.4
f Phase: 902 - Review o	of Project Plan Submittals		Total Fo	or Phase: 901	\$2,698.4
	f Project Plan Submittals	Date	Billed	Billed	Сиггег
# Phase: 902 - Review o Professional Services Engineer-in-Training	of Project Plan Submittals	Date		•	Сиггег
Professional Services	of Project Plan Submittals T694329	Date 05/28/24	Billed	Billed	Currer Bille
Professional Services Engineer-in-Training I	Т694329		Billed Hours	Billed Rate	Currer Bille
Professional Services Engineer-in-Training I Kenneth Kessinger	Т694329		Billed Hours	Billed Rate	Currer Bille \$547.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project	T694329 t Estimates review T694329	05/28/24	Billed Hours 5.00	Billed Rate 109.51	Currer Bille \$547.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger	T694329 t Estimates review T694329	05/28/24	Billed Hours 5.00	Billed Rate 109.51	Currer Bille \$547.5 \$985.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger Waller County Project	T694329 t Estimates review T694329 t Estimates review T694329	05/28/24 05/29/24	Billed Hours 5.00	Billed Rate 109.51	Currer Bille \$547.5 \$985.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger Waller County Project Kenneth Kessinger Waller County Project	T694329 t Estimates review T694329 t Estimates review T694329	05/28/24 05/29/24 05/30/24	Billed Hours 5.00	Billed Rate 109.51	Currer Bille \$547.5 \$985.5 \$1,040.3
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger Waller County Project Kenneth Kessinger	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329	05/28/24 05/29/24	Billed Hours 5.00 9.00	Billed Rate 109.51 109.51	Currer Bille \$547.5 \$985.5 \$1,040.3
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329	05/28/24 05/29/24 05/30/24 05/31/24	Billed Hours 5.00 9.00	Billed Rate 109.51 109.51	Currer Bille \$547.5 \$985.5 \$1,040.3
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329	05/28/24 05/29/24 05/30/24	Billed Hours 5.00 9.00 9.50	Billed Rate 109.51 109.51 109.51	Currer Bille \$547.5 \$985.5 \$1,040.3
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T697205 t Estimates review	05/28/24 05/29/24 05/30/24 05/31/24	Billed Hours 5.00 9.00 9.50 3.00 5.00	Billed Rate 109.51 109.51 109.51	Currer Bille \$547.5 \$985.5 \$1,040.3 \$328.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329	05/28/24 05/29/24 05/30/24 05/31/24	Billed Hours 5.00 9.00 9.50	Billed Rate 109.51 109.51 109.51	Currer Bille \$547.5 \$985.5 \$1,040.3 \$328.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger Borehole locations	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T697205 t Estimates review T698646	05/28/24 05/29/24 05/30/24 05/31/24 06/03/24	Billed Hours 5.00 9.00 9.50 3.00 5.00	Billed Rate 109.51 109.51 109.51 109.51	Curren Bille \$547.5 \$985.5 \$1,040.3 \$328.5 \$547.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger Borehole locations Kenneth Kessinger	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T697205 t Estimates review	05/28/24 05/29/24 05/30/24 05/31/24	Billed Hours 5.00 9.00 9.50 3.00 5.00	Billed Rate 109.51 109.51 109.51	\$2,698.4 Curren Bille \$547.5 \$985.5 \$1,040.3 \$328.5 \$547.5
Professional Services Engineer-in-Training I Kenneth Kessinger Waller County Project Kenneth Kessinger Borehole locations	T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T694329 t Estimates review T697205 t Estimates review T698646	05/28/24 05/29/24 05/30/24 05/31/24 06/03/24	Billed Hours 5.00 9.00 9.50 3.00 5.00	Billed Rate 109.51 109.51 109.51 109.51	Curren Bille \$547.5 \$985.5 \$1,040.3 \$328.5 \$547.5

M Phase: 903 - Utility Co	ordination				
,			Billed	Billed	Curr
Professional Services		Date	Hours	Rate	Bil
Utility Coordinator					_
Jose Ramirez	T693051	05/20/24	4.00	172.08	\$688
KMZ					
Jose Ramirez	T693051	05/21/24	2.00	172.08	\$344
KMZ's Scoping					
Jose Ramirez	T693051	05/23/24	2.00	172.08	\$344
project scoping					
Jose Ramirez	T693051	05/24/24	4.00	172.08	\$688
project scopes					
Jose Ramirez	T694437	05/28/24	3.00	172.08	\$516
KMZ					
Jose Ramirez	T694437	05/29/24	4.00	172.08	\$688
Review KMZ/Shapes					
Jose Ramirez	T694437	05/31/24	3.00	172.08	\$510
KMZ					
Jose Ramirez	T697313	06/04/24	2.00	172.08	\$34
Jose Ramirez	T697313	06/06/24	2.00	172.08	\$34
Jose Ramirez	T697313	06/07/24	1.00	172.08	\$17:
Jose Ramirez	T700936	06/19/24	3.00	172.08	\$51
Review of comments/o	utilities		22		
			Tot	al For Phase: 903	\$5,16
W Phase: 904 - Program	Managament				4-5,1-5
vi Filase: 304 - Frogram	management		Billed	Billed	Cun
Professional Services Admin/Clerical		Date		Rate	Bi
Carrie Harper	T690687	05/15/24	2.00	109.51	\$21:
Administrative		00/10/2		.00101	42.
Carrie Harper	T690687	05/16/24	2.50	109.51	\$27
Admin	1030001	00/10/25	2.00	100.51	V 27
	T690687	05/17/24	3.50	109.51	\$38
Carrie Harper	1090007	U3/1/12 ⁴	3.50	109.51	\$38
Admin	T000504	05/00/0	4.00	400.54	A 40
Carrie Harper	T693501	05/20/24	1.00	109.51	\$10
Admin			80000	Ng. 2 _4000.44	
Carrie Harper	T693501	05/22/24	1.00	109.51	\$10
Admin					
Carrie Harper	T701393	06/20/24	1.50	109.51	\$16
Admin					

Professional Services		Date	Billed Hours	Billed Rate	Current Billed
Carrie Harper	T703622	06/26/24	1.50	109.51	\$164.27
Admin					
Carrie Harper	T706616	07/03/24	1.50	109.51	\$164.27
Admin					
Carrie Harper	T708845	07/12/24	1.50	109.51	\$164.27
Admin					
Carrie Harper	T710313	07/17/24	1.50	109.51	\$164.27
Admin					
Carrie Harper	T710313	07/19/24	1.00	109.51	\$109.51
Admin					
Carrie Harper	T712561	07/24/24	1.50	109.51	\$164.27
Admin					
Carrie Harper	T712561	07/26/24	1.00	109.51	\$109.51
Admin					
Tanya Wroblewski	T693712	05/20/24	0.50	109.51	\$54.76
courier					
Deputy Project Manager					
Daniel Freeman	T699646	06/10/24	4.00	328.52	\$1,314.08
Daniel Freeman	T699646	06/11/24	4.00	328.52	\$1,314.08
Daniel Freeman	T699646	06/12/24	8.00	328,52	\$2,628.16
Daniel Freeman	T699646	06/13/24	8.00	328.52	\$2,628.16
Daniel Freeman	T699646	06/14/24	8.00	328.52	\$2,628.16
Daniel Freeman	T701827	06/17/24	8.00	328.52	\$2,628.16
Daniel Freeman	T701827	06/18/24	8.00	328 52	\$2,628,16
Daniel Freeman	T701827	06/19/24	8.00	328.52	\$2,628.16
Daniel Freeman	T701827	06/20/24	8.00	328.52	\$2,628.16
Daniel Freeman	T701827	06/21/24	8.00	328.52	\$2,628.16
Daniel Freeman	T704048	06/24/24	8.00	328.52	\$2,628.16
Daniel Freeman	T704048	06/25/24	8.00	328.52	\$2,628.16
Daniel Freeman	T704048	06/26/24	13.00	328.52	\$4,270.76
Daniel Freeman	T704048	06/27/24	8.00	328.52	\$2,628_16
Daniel Freeman	T704048	06/28/24	3.00	328.52	\$985.56
Daniel Freeman	T707039	07/01/24	8.00	328.52	\$2,628.16
Daniel Freeman	T707039	07/02/24	8.00	328.52	\$2,628.16
Daniel Freeman	T707039	07/03/24	8.00	328.52	\$2,628.16
Daniel Freeman	T707039	07/05/24	8.00	328.52	\$2,628.16
Daniel Freeman	T709263	07/08/24	8.00	328.52	\$2,628.16 \$1,314.08
Daniel Freeman Daniel Freeman	T709263 T709263	07/09/24 07/10/24	4.00 8.00	328.52 328.52	\$1,314.08 \$2,628.16
Daniel Freeman	T709263	07/10/24	8.00	328.52	\$2,628.16
Damer FleefildH	1100203	V// 11/24	0.00	320.32	ΨΔ,020-10

ect PM5121-2471 Walle	er County Bond Program Management				
ect PM5121-2471		Po de	Billed Hours	Billed Rate	Current Billed
_ 01		Date 07/12/24	8.00	320.02	32,628.16
Professional Services	T709263	07/15/24	8,00	320.02	\$2,628.16
Daniel Freeman	T710731	07/16/24	8.00	320.02	\$2,628.16
Daniel Freeman	T710731		8.00	328.52	\$2,628.16
Daniel Freeman	T710731	07/17/24	8.00	328.52	\$2,628.16
Daniel Freeman	T710731	07/18/24	8.00	328.52	\$2,628.16
Daniel Freeman	T710731	07/19/24	8.00	328.52	\$2,628.16
Daniel Freeman	T712969	07/22/24	8.00	328.52	\$2,628.16
Daniel Freeman	T712969	07/23/24	8.00	328.52	\$2,628.16
Daniel Freeman	T712969	07/24/24	4.00	328,52	\$1,314.08
Daniel Freeman	T712969	07/25/24		328.52	\$2,628.16
Daniel Freeman		07/26/24	8.00		
Daniel Freeman	T712969			140.79	\$563.16
Engineer-in-Training II		05/20/24	4.00	93.	
. D-blos	T692187			440.79	\$563.16
Waller County	estimates, Proposal Review, and KMZ	07/01/24	4.00	140.79	* (i)
Bandy Pobles	T705283				\$281.58
Undating Estin	nates, KMZs, and coordination.	07/02/24	2.00	140.79	\$201.00
	T705283	07702.5			
Randy Robles	mates, KMZs, and coordination.	- TAPIDA	2.00	140.79	\$281.58
	T711201	07/15/24			
Randy Robles	mate/KMZ clarifications and revisions		1.00	140.79	\$140.79
Projects Esti	T713440	07/22/24	1.00		
Randy Robles					
Waller Coun	ty Coordination		(3)(2)	234.65	\$234.65
Project Engineer		05/20/24	1.00		
Robert Mcbride	T691957			204.55	\$469.30
Project Mar	nagement	05/21/24	2.00	234.65	·
Robert Mcbride	T601957				\$469.30
Project Ma		05/22/24	2.00	234.65	\$469.50
	T601957	0012212			
Robert Mcbrid		100 10 4	3.00	234.65	\$703.95
	anagement . 7691957	05/23/24			
Robert Mcbrid	de .		2.00	234.65	\$469.30
Project M	tanagement T691957	05/24/24	2.00		
Robert Mcbri	de (69193)			234.65	\$703.95
Project N	Management	05/30/2	4 3.00	201.02	
Robert Mcbr	ide T695462			-04.00	\$469.30
	Management	06/03/2	2.00	234.65	0.0
Robert Mcb	T606218				\$586.63
	management	06/04/	24 2.50	234.6	5 \$500.03
	T696218	00/01			
Robert McI					
projec	t management				

Professional Services		Date	Billed Hours	Billed Rate	Current Billed
Robert Mcbride	T699808	06/10/24	1.00	234.65	\$234.65
Project Management			20.00		400 1 45
Robert Mcbride	T702025	06/18/24	1.00	234.65	\$234.65
project management				211722	
Robert Mcbride	T702025	06/20/24	3.00	234.65	\$703.95
program management			10/24/7		
Robert Mcbride	T704256	06/24/24	1.00	234.65	\$234.65
Project Management					
Robert Mcbride	T705054	07/01/24	4.00	234.65	\$938.60
program management					
Robert Mcbride	T705054	07/02/24	3.00	234.65	\$703.95
project management					
Robert Mcbride	T710971	07/17/24	1.50	234.65	\$351.98
project management					
Robert Mcbride	T713211	07/22/24	1.00	234.65	\$234.65
program management				57.075699	
Robert Mcbride	T713211	07/24/24	1.00	234.65	\$234.65
program management					
Project Manager					#700.04
John Tyler	T690579	05/15/24	2.00	350.42	\$700.84
Held Kick-off mtg. drafted minutes. coord set up of project.					
John Tyler	T690579	05/16/24	6.00	350.42	\$2,102.52
mtg for beginning assessn discussion for engineering initial discussions on RFQ coord of development info staffing discussions. Bridge inspection schedul	scopes/delivery. procedures for County. rmation. ing.	2514704		250 40	\$1,927.31
John Tyler	T690579	05/17/24	5.50	350.42	\$1,927.31
mtg w/outside counsel. proj setup arrangement. staff mtg on assessments construction bidding initial review of engineering sco coord of contract procedu	mtg pe layout.				
John Tyler	T693392	05/20/24	4.00	350.42	\$1,401.68
coord mtg w/txdot. coord review of projects. proj set-up. contract execution.		05/04/04	2.00	250.42	\$700.94
John Tyler	T693392	05/21/24	2.00	350.42	\$700.84
coord w/DPM. worked on engineers scop	pe template				
John Tyler	T693392	05/22/24	0.50	350.42	\$175.21
mtg. coord					

		Date	Billed Hours	Billed Rate	Current Billed
Professional Services		05/23/24	1.50	350.42	\$525.63
John Tyler	Т693392	03/23/24			
coord assessment/staffing		05/24/24	4.50	350.42	\$1,576.89
John Tyler	Т693392				
staff coord of assessment. Review of preliminary esti Sch line items draft.	mates.	05/00/24	2.00	350.42	\$700.84
John Tyler	T694779	05/28/24	2.00		
coord staff for meetings. Mtg. coord. project research. John Tyler	т694779	05/29/24	7.00	350.42	\$2,452.94
coord TxDOT Waller proj	ects/JKoch.				
program set-up. staffing discussion.	T694779	05/30/24	7.00	350.42	\$2,452.94
John Tyler					
mtg w/TxDOT. coord of team after mtg. project set-up/coord. developer coord. mtg prep.		05/31/24	0.50	350.42	\$175.21
John Tyler	T694779	00/3/1/24			
prgrm mtg w/staff.		06/10/24	3.00	350.42	\$1,051.26
John Tyler	T699096	00/10/24	0.00		
staff mtg./review of prog Plan review/task alignm	ram direction ent. T699096	06/11/24	5.00	350.42	\$1,752.10
John Tyler	1099090				
coord of project work. admin of program. organizing tasks/sched	ule. T699096	06/12/24	7.00	350.42	\$2,452.94
John Tyler	· ·				
commissioner court/dis coord of work tasks. coord w/counsel. preparation for comm r	mtgs,	06/13/24	5.00	350.42	\$1,752.10
John Tyler	T699096	00/13/24			
coord of estimated '24 coord of project coring project mtg.	expenditures.	06/14/24	3.00	350.42	\$1,051.26
John Tyler	Т699096	00/14/24	****		
developer tracking set coord of txdot mtg. prog admin.	l-up.	06/17/24	3.00	350.42	\$1,051.26
John Tyler	T701278	00/17/24			
prog team mtg. prog set-up-invoicing. bond amount discuss	ion.	06/18/24	5.00	350.42	\$1,752.10
John Tyler	T701278	30, 10,-			
RFQ discussion. coord w/drainage. coord of program set		06/19/24	5.00	350.42	\$1,752.10
John Tyler	T701278				
program mtg schedu		06/20/24	6.00	350.42	\$2,102.52
John Tyler	T701278	3.12 -1			

a victorial Constant		Date	Billed Hours	Billed Rate	Current Billed
fessional Services					*
mtg. w/C Smith. prog coord/review/set-up.	T704079	06/21/24	4.00	350.42	\$1,401.68
John Tyler	T701278				
Program Organization. Coord review of document of Mtg schedules. PIP review.		06/24/24	8.00	350 42	\$2,803.36
John Tyler	T703508	00/24/24			
PIP drafting. coord of program. document control system/s	set up. T703508	06/25/24	5.00	350.42	\$1,752.10
John Tyler	1703500				
PIP development. coord of comm mtgs. internal mtgs.	T703508	06/26/24	8.00	350.42	\$2,803.36
John Tyler					
comm crt mtg. txdot Waller Proj mtg.	T703508	06/27/24	5.50	350.42	\$1,927.31
John Tyler	1703300				
staff coord from mtgs. schedule initial meeting. development mtg.		06/28/24	2.00	350.42	\$700.84
John Tyler	T703508	QQ(ZQ)Z			
prog organization. coord of estimates. coord of prog mtgs. prog documentation.	T706502	07/01/24	8.00	350.42	\$2,803.36
John Tyler	1700002				
Prog admin. C Jones mtg. staff mtg. John Tyler	T706502	07/02/24	5.50	350.42	\$1,927.31
C Beckendorff mtg. coord of staff/est direction prog staff organization.	on.	20/20/04	3.00	350.42	\$1,051.26
John Tyler	T706502	07/03/24	3.00		
coord of mtg sch. mtg minute drafting. monthly reporting.		07/05/24	2.50	350.42	\$876.05
John Tyler	T706502	01100124	513(3)		
drafted June monthly p minutes from commissi	ioner migs.	07/09/24	3.00	350.42	\$1,051.26
John Tyler	T708728	• • • • • • • • • • • • • • • • • • • •			
Prep for Comm 1 mtg. Waller drainage discus Pct 3 and 4 minutes. Coord of mtg with Ros		07/10/24	6.00	350.42	\$2,102.52
John Tyler comm crt mtg.	1140.00				
Comm 1 mtg. Cty Eng Mtg. coord mtg w/staff assi	ignments.	07/11/24	1.50	350.42	\$525.6
John Tyler	T708728	***			
mtg w/bond company mtg minutes for Pct 1	^r . ⊢mtg.				

Professional Services		Date	Billed Hours	Billed Rate	Current Billed
John Tyler	T708728	07/12/24	0.50	350.42	\$175.21
mgmt coord.					
John Tyler	T710196	07/15/24	3.00	350.42	\$1,051.26
Coord staff program estin Staff coord of projects.	nating.				
John Tyler	T710196	07/16/24	0.50	350.42	\$175.21
coord of program.					
John Tyler	T710196	07/17/24	2.00	350.42	\$700.84
reveiw of project schedul	ing/costs.				
John Tyler	T710196	07/18/24	0.50	350.42	\$175.21
coord of proj est.					
John Tyler	T710196	07/19/24	0.50	350.42	\$175.21
disc of office space costs	š.				
John Tyler	T712446	07/22/24	1.50	350.42	\$525.63
coring coord.	1,16,440				
weekly prog mtg. John Tyler	T712446	07/24/24	4.50	350.42	\$1,576.89
Comm court. Discussion with Ross. Coord w/staff reviews.					
John Tyler	T712446	07/25/24	1.00	350.42	\$350.42
coord of coring. met Mayor Joe.					
John Tyler	T712446	07/26/24	0.50	350.42	\$175.21
cost/scope proj discussion	on.				
Senior Engineer					
Michael Keck	T695425	05/30/24	2.00	297.23	\$594.46
Michael Keck	T696181	05/31/24	1.00	297.23	\$297.23
Michael Keck	T696181	06/03/24	1.00	297.23	\$297,23
Michael Keck	T696181	06/04/24	1.00	297.23	\$297.23
Michael Keck	T696181	06/05/24	1.00	297.23	\$297.23
Michael Keck	T699771	06/10/24	1.00	297.23	\$297.23
Michael Keck	T699771	06/11/24	1.00	297.23	\$297.23
Michael Keck	T699771	06/12/24	1.00	297.23	\$297.23
Michael Keck	T699771	06/13/24	1.00	297.23	\$297.23
Senior Engineer Tech					
Philip Westerman	T691943	05/20/24	1.00	140.79	\$140.79
Philip Westerman	T691943	05/24/24	1.00	140.79	\$140.79
Philip Westerman	T695448	05/30/24	1.00	140.79	\$140.79
Philip Westerman	T704242	06/24/24	1.00	140.79	\$140.79
Senior Technical Advisor					
Jerry Ramos	T697395	06/04/24	2.00	453.66	\$907.32
Meeting with Ross					

		Date	Billed Hours	Billed Rate	Current Billed
Professional Services	T698832	06/12/24	1.00	453.66	\$453.66
Jerry Ramos	T698832	06/13/24	1.00	453.66	\$453,66
Jerry Ramos Expenditure Call	1000002				
•	T701015	06/19/24	2.00	453.66	\$907.32
Jerry Ramos	T706238	07/01/24	1.00	453.66	\$453.66
Jerry Ramos	1700230	*****	7	Dhasas 004	\$159,392.71
			lotal Fo	r Phase: 904	\$103,002.71
T&M Phase: 905 - Project	Coordination				
		Date	Billed Hours	Billed Rate	Current Billed
Professional Services Engineer-in-Training II		Buto	*****		
Randy Robles	T692187	05/21/24	4.00	140.79	\$563.16
-	ates, Proposal Review, and KMZ				
Randy Robles	T692187	05/22/24	4.00	140.79	\$563.16
-	ates, Proposal Review, and KMZ				
Randy Robles	T692187	05/23/24	4.00	140.79	\$563,16
	ates, Proposal Review, and KMZ				
Randy Robles	T695691	05/28/24	6.00	140.79	\$844.74
	nates/KMZ/Proposal Review				
Randy Robles	T695691	05/30/24	6.00	140.79	\$844.74
	nates/KMZ/Proposal Review				
Randy Robles	T695691	05/31/24	4.00	140,79	\$563.16
•	nates/KMZ/Proposal Review				
	T696449	06/03/24	4.00	140.79	\$563,16
Randy Robles					
Waller Estimate Re		06/20/24	3.00	140.79	\$422.37
Randy Robles	T702255	00/20/24	0.00	12021	
	(MZ clarifications and revisions	06/24/24	4.00	140.79	\$563.16
Randy Robles	T704486	00/24/24	4.00	1.0	***************************************
Updating estimates		06/25/24	4.00	140.79	\$563.16
Randy Robles	T704486	00/23/24	4.00	140.75	
Updating estimates		20/20/04	4.00	140.79	\$563.16
Randy Robles	T704486	06/26/24	4.00	140.73	ψ500:10
Updating estimates		00/07/04	4.00	140.79	\$563.16
Randy Robles	T704486	06/27/24	4.00	140.79	\$303,10
Projects Estimate/	KMZ clarifications and revisions			440.70	£204 E0
Randy Robles	T704486	06/28/24	2.00	140.79	\$281.58
Projects Estimate/	KMZ clarifications and revisions			140.70	0E00.40
Randy Robles	T707508	07/10/24	4.00	140.79	\$563.16
Updating estimate	s and KMZs	Si 250	78.57		#F00 40
Randy Robles	T707508	07/11/24	4.00	140.79	\$563.16

Professional Services		Date	Billed Hours	Billed Rate	Current Billed
Projects Estimate/KMZ c	larifications and revisions				
Randy Robles	T707508	07/12/24	2.00	140.79	\$281.58
Projects Estimate/KMZ c	larifications and revisions				
Project Engineer					
Robert Mcbride	T702025	06/17/24	1.00	234.65	\$234.65
review estimates/scope					
Robert Mcbride	T702025	06/18/24	1.00	234.65	\$234.65
Estimate review					
Robert Mcbride	T702025	06/20/24	1.00	234.65	\$234.65
estimate review					
Robert Mcbride	T704256	06/25/24	2.00	234.65	\$469.30
Estimate Review					
Robert Mcbride	T704256	06/26/24	2.00	234.65	\$469.30
estimate and kmz reviev	v				
Robert Mcbride	T704256	06/27/24	3.00	234.65	\$703.95
estimate and kmz review	v				
Robert Mcbride	T705054	07/01/24	1.00	234.65	\$234.65
revise estimate					
Robert Mcbride	T705054	07/02/24	1.00	234.65	\$234.65
Estimate review					
Robert Mcbride	T705054	07/03/24	1.00	234.65	\$234.65
estimate review					
Robert Mcbride	T710971	07/16/24	4.00	234.65	\$938.60
Estimate review					
Robert Mcbride	T710971	07/18/24	3.00	234.65	\$703.95
estimate review					
Robert Mcbride	T713211	07/23/24	6.00	234.65	\$1,407.90
cost estimate					
Robert Mcbride	T713211	07/24/24	6.00	234.65	\$1,407.90
cost estimate					
Scheduler I/II					
Joselin Mary Zachariah	T703927	06/25/24	2.00	125.15	\$250.30
Joselin Mary Zachariah	T703927	06/26/24	0.50	125.15	\$62.58
Senior Engineer		11	4.00	207.22	£367.33
Michael Keck	T701988	06/17/24		297.23	\$297.23 \$297.23
Michael Keck	T701988	06/18/24		297.23 297.23	\$594.46
Michael Keck	T701988	06/20/24 0 6 /24/24		297.23	\$594.46
Michael Keck	T704219	06/28/24		297.23	\$594.46
Michael Keck	T704219	00/20/24	2.00	207.20	***************************************

			Total Fe	or Phase: 907	\$453.66
GIS Services - Waller	r County City Limits Data Export				
Eric Avery	T708969	07/10/24	1.50	90.73	\$136.10
GIS Services - Waller	r County Projects ROW Data Request				
Eric Avery	T701524	06/21/24	1,50	90,73	\$136.10
GIS Services - Waller	r County Projects ROW Data Request				
Eric Avery	T701524	06/20/24	2,00	90.73	\$181.46
Professional Services GIS Analyst		Date	Billed Hours	Billed Rate	Current Billed
T&M Phase: 907 - GIS	 				
			Total Fo	or Phase: 905	\$27,438.65
Cost estimate revision	ns				
Jose Ramirez	T712112	07/25/24	4.00	172.08	\$688.32
Cost Estimate revision		73173110	0.00	112.00	31,002.70
Jose Ramirez	T712112	07/24/24	6.00	172.08	\$1,032.48
Estimate revisions	1700000	V// 1 1/2-7	0.00		₩010.E4
Jose Ramirez	T708386	07/11/24	3.00	172.08	\$516.24
Review of project sco		V.,V&147	5.00	2.00	40.000
Jose Ramirez Jose Ramirez	T706161	07/02/24	3.00	172.08	\$516.24
Jose Ramirez	T703167	06/27/24	2.00	172.08	\$344.16
ROW files	1100101				
Jose Ramirez	T703167	06/26/24	2.00	172.08	\$344.16
KMZ files			507.70		•
Jose Ramirez	T703167	06/25/24	1.00	172.08	\$172.08
Utility Coordinator	1710400	07720724	1.00	201,20	¥401,E0
Michael Keck Michael Keck	T713174 T715438	07/22/24 07/26/24	1.00 1.00	297.23	\$297.23
Michael Keck	T710934	07/18/24	2.00	297.23 297.23	\$594.46 \$297.23
Michael Keck	T710934	07/17/24	1.00	297.23	\$297.23
Michael Keck	T710934	07/15/24	1.00	297.23	\$297.23
Michael Keck	T707242	07/11/24	2.00	297.23	\$594.46
Michael Keck	T707242	07/10/24	1.00	297.23	\$297.23
Michael Keck	T707242	07/08/24	1.00	297.23	\$297.23
Michael Keck	T705017	07/03/24	2.00	297,23	\$594.46
Michael Keck	T705017	07/02/24	2.00	297.23	\$594.46
Michael Keck	T705017	07/01/24	2.00	297,23	\$594.46
Professional Services		Date	Hours	Rate	Billed
			Billed	Billed	Current

Delegation and European		Invoice Number	Date	Quantity	Unit Rate	Curren Billed
Reimbursable Expenses Meals (Internal)		Number	Date	Quantity	Kate	Dillec
Daniel Freeman	E54984		06/26/24			\$46.00
John Tyler and Daniel Free	man Lunch					
Mileage						
Daniel Freeman	E54984		06/20/24	346.00	0.67	\$231.82
Mileage to Katy Office						
Daniel Freeman	E54984		06/26/24	364.00	0.67	\$243.88
Mileage to Mileage to Walle	er Cty and TxDOT Me	eeting				
John Tyler	E54986		06/26/24	42.00	0.67	\$28.14
Crt mtg to TxDOT mtg						
Robert Mcbride	E54696		05/30/24	40.00	0.67	\$26.80
Waller County Meeting with	TxDOT					
Robert Mcbride	E54696		06/04/24	60.00	0.67	\$40.20
Meeting with Waller County	Engineer					
Robert Mcbride	E54696		06/20/24	40.00	0.67	\$26.80
Waller County Meeting w/ F	ct 2 Commissioner					
Robert Mcbride	E55813		07/01/24	60.00	0.67	\$40.20
Waller County Meeting w/ F	ect 3 Commissioner					
Robert Mcbride	E55813		07/02/24	60.00	0.67	\$40.20
Meeting with Waller County	Pct 4 Commissione	r				
Postage/Delivery						
Sterling Express Services, Inc.	P230155	123963	05/31/24			\$46.0
Sterling Express Inv. 12396	33 Ticket # 1727371	Waller County Eng	ineering Departm	ent	Na.	
				Total For	Phase: Z99	\$770.04

Total Time and Material Fees \$200,241.53

> **Total Amount Due** \$200,241.53



Monthly Progress Report June 2024

Contract No:

Project Description: Waller County Road Bond Program GEC **Progress Reporting Period:** May 15, 2024 – June 28, 2024

Project Manager: John Tyler

Progress Summary:

Project Design Engineer Coordination

- Summary of effort
 - o None.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - Effort will begin after selection of engineers.

Review of Project Plan Submittals

- Summary of effort
 - o None.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - Effort will begin after selection of engineers.

Utility Coordination

- Summary of effort
 - Provided research on potential conflicts
 - Provided information for use in project estimates.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.

- Progress Expected Next Month:
 - Will continue to support the project estimates.
 - Begin developing utility conflict lists.
 - Begin developing utility contact information.

Program Management

- Summary of effort
 - Organized project set-up.
 - Began reviewing project scopes.
 - Began developing project estimates.
 - Began research of program document control software.
 - o Began developing the Project Implementation Plan for use by Project Engineers.
 - Began developing overall program schedule.
 - Began developing program expenditures with the schedule.
 - o Scheduled initial meetings with Commissioners.
 - o Met with Commissioner Smith to discuss project in Precinct 2.
 - Discussed program with outside counsel.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - Will continue to develop costs and scheduling of program. Expect to have a draft plan after all meetings with Commissioners are completed.
 - Meet with remaining Commissioners, last meeting scheduled for 7/10.
 - Review and participate, as requested, with the approval of the project engineers selection process.
 - Implement approved program document control software.

Project Coordination

- Summary of effort
 - Began reviewing all project scopes and developing estimates using the Waller County Mobility Plan Report.
 - Provided quality checks of initial scopes and estimates.
 - Developed information/questions for precinct project meetings.
- Deliverables
 - o None.
- Problems Encountered:
 - Estimates not matching Plan Report estimates.
- Progress Expected Next Month:
 - Continue to develop project scopes and estimates.

Right of Way Coordination

- Summary of effort
 - None.

- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - o Effort will begin after selection of engineers.

GIS

- Summary of effort
 - Initial discussions for program set-up.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - Continue discussions for integrating into program information sharing.

Bidding Phase Services

- Summary of effort
 - o None.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - o Effort will begin when first project design is 50% complete.



Monthly Progress Report July 2024

Contract No:

Project Description: Waller County Road Bond Program GEC **Progress Reporting Period:** June 29, 2024 – July 26, 2024

Project Manager: John Tyler

Progress Summary:

Project Design Engineer Coordination

- Summary of effort
 - o None.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - o Effort will begin after selection of engineers.

Review of Project Plan Submittals

- Summary of effort
 - o None.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - Effort will begin after selection of engineers.

Utility Coordination

- Summary of effort
 - Continued research on potential conflicts for projects.
 - o Provided information for use in project estimates.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.

- Progress Expected Next Month:
 - Will continue to support the project estimates.
 - Continue developing utility conflict lists.

Program Management

- Summary of effort
 - o Continue developing project scopes.
 - o Continue developing project estimates.
 - o Submitted research of program document control software.
 - o Continued developing the Project Implementation Plan for use by Project Engineers.
 - o Continued developing overall program schedule.
 - o Continued developing program expenditures with the schedule.
 - o Held initial meetings with Commissioners from Precincts 1, 3, and 4.
 - Continued discussion of program and engineering selection process with outside counsel.
 - Worked with County to obtain access to a geotechnical firm (UES) to provide road corings to determine base of mill and overlay projects.
 - o Attended meeting with TxDOT about TxDOT projects underway in Waller County.
- Deliverables
 - Preliminary cost estimates and schedule.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - o Expect to have a draft plan to present to Commissioners for discussion and direction.
 - o Meet with City of Katy engineer to coordinate projects.
 - Contact Harris County Precinct 4 to obtain schedule for Pitts Road.
 - Implement approved program document control software.

Project Coordination

- Summary of effort
 - Continued developing all project scopes and construction estimates.
 - Developed project schedule/outline from commissioner meetings.
- Deliverables
 - None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - Receive coring information to better estimate project scopes and estimates.

Right of Way Coordination

- Summary of effort
 - None.
- Deliverables
 - None.

- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - o Effort will begin after selection of engineers.

GIS

- Summary of effort
 - Minimal program maintenance.
 - Discussions for program set-up.
- Deliverables
 - o None.
- Problems Encountered:
 - None.
- Progress Expected Next Month:
 - Continue discussions for integrating into program information sharing.

Bidding Phase Services

- Summary of effort
 - o None.
- Deliverables
 - o None.
- Problems Encountered:
 - o None.
- Progress Expected Next Month:
 - o Effort will begin when first project design is 50% complete.

Sal Y Pimienta 818 Town & Country # 105 Houston, TX, 77024 713-907-0412

#111/1 06/26/24-A 12:31pm Guests 2 Diego Estrano Table M23

Main Room

1. Iced Tea 3.75
1. Chicken SAND. 16.50
1. L-Matambre App 15.75

Items Sales Tax 36.00--

Subtotal

38.97

TOTAL \$46.00

I agree to pay the above TOTAL amount according to card issuer agreement.

SIGN X

(DANIEL H FREEMAN)

We hope that you enjoyed your meal & service, let us help you with the math.

Good Service: 5.85 Great Service: 7.01 Exellent Service: 7.79

Employee: Tyler, John

Week of 062424

Project/Expen	se Project Name	Date	Units	Unit Rate	Cost Amount	Amount To
PM5121-2471.	904 Waller County Bond Prog	ram Management				
Mileage		6/26/2024	42.00	0.6700	\$28.14	\$28.14
Crt Mtg to TxD	OT mtg					
			Total To Re	imburse		\$28.14
			The state of the s	CERTAIN ADVANCE COLUMN INVESTIGATION	Who end manufactures are supported and a first	
Signed by	Tyler, John		Date	07/01/2024 08	3:12 AM	
Signed by	Tyler, John		Date	07/01/2024 08	3:12 AM	

25 7/31/2024 9 44 39 AM 25 1 of 1

Employee: Freeman, Daniel

Travel to Houston

Project/Expens	se Project Name	Date	Units	Unit Rate	Cost Amount	Amount To
PM5121-2471.9	104 Waller County Bond Program	n Management			110 4 2 111 2 2 2 2 3 3 11 1 1	
Mileage		6/20/2024	346.00	0.6700	\$231,82	\$231.82
Mileage to Katy	Office					
PM5121-2471.9	004 Waller County Bond Program	n Management				
Mileage		6/26/2024	364.00	0.6700	\$243.88	\$243.88
Mileage to Milea	age to Waller Cty and TxDOT Meeting					
			Total To Re	eimburse		\$475.70
01/00/2012/01/01/01/01		BANKSON CLASS SON SOLANI, SHERIFE SAN AND	SECURIO SE SUCCESA DE LA COMPONICIONA DELIGIONA DELIGI		STREET,	HE STORY ASSESSMENT OF
Signed by	Freeman, Daniel		Date	06/27/2024 08	3:25 AM	
Signed by	Freeman, Daniel		Date	06/27/2024 08	3:25 AM	

Employee: Mcbride, Robert

May 24, 2024 to June 20, 2024

Project/Expense	Project Name	Date	Units	Unit Rate	Cost Amount	Amount To
PM5121-2471.Z99	Waller County Bond Program	Management	3000	ALL PARTY OF THE P		
Vileage		5/30/2024	40.00	0.6700	\$26.80	\$26.80
Valler County Mee	eting with TxDOT					
PM5121-2471.Z99	Waller County Bond Program	Management				
Vileage		6/4/2024	60.00	0.6700	\$40.20	\$40.20
Meeting with Walle	er County Engineer					
PM5121-2471.Z99	Waller County Bond Program	Management				
Vileage		6/20/2024	40.00	0.6700	\$26.80	\$26.80
Valler County Mee	eting w/ Pct 2 Commissioner					
			Total To Re	imburse		\$93.80
Signed by	Mcbride, Robert	PARTICIPATION STATES AND STATES A	Date	06/20/2024 06	i:05 PM	
						S. Service
Approved By	rbaker		Date	06/21/2024 04	1:26 PM	

.25 7/31/2024 9:13:33 AM .25 1 of 1

Employee: Mcbride, Robert

June 21 to August 1, 2024

Project/Expense	Project Name	Date	Units	Unit Rate	Cost Amount	Amount To
PM5121-2471.Z99	Waller County Bond Program	Management				C. T. S. S. P. C. S.
Mileage		7/1/2024	60.00	0.6700	\$40.20	\$40.20
Waller County Mee	eting w/ Pct 3 Commissioner					
PM5121-2471.Z99	Waller County Bond Program	Management				
Mileage		7/2/2024	60.00	0.6700	\$40.20	\$40,20
Meeting with Walle	er County Pct 4 Commissioner					
			Total To Re	dank	_	600.40
et en	STATE OF THE PARTY		TOTAL TO RE	MITIDUISE	non michael de la constitu	\$80.40
Signed by	Mcbride, Robert		Date	08/02/2024 02	:33 PM	\$80.40



Sterling Express Services, Inc. 1940 Fountain View Drive, #508 Houston, TX 77057

Thank you for your business!

Customer Number
5649
Invoice Number
123963
Invoice Date
5/31/2024

Page 6 of 27

On Demand

Order Type	Order ID	Orieta	Destination		References
Deliver Date	Caller	Origin	Destination		Billing Group
5/20/2024 8:35 AM ASAP	1727343	LJA Engineering, Inc. 318 Margaret St	Lja Engineeri 3600 W Sam	_	0474-3211 DeAndre Rucker-Debra Gi
5/20/2024 10:20 AM	LJAMailroom 7133418022	Wharton TX 77488	Houston TX 7		3600
			ASAP	\$ 68.15	
			Pieces	\$0.00	
BBB - S-1-1-B-	1		Weight	\$0.00	
POD: DeAndre Ruc	Ker	Orde	r Total:	\$68.15	
5/20/2024 9:43 AM	1727365	Lja Engineering, Inc.	KB Home Los	97	1750-5103.304
ASAP 5/20/2024 10:29 AM	LJAMailroom	3600 W Sam Houston Pkwy S Mail Houston TX 77042-3768	Houston TX 7		DeAndre Rucker-Zachary 3600
3/20/2024 TO.23 Fill	7133418022	11003(01) 17 77042-3700	HOUSION IX	7002	3000
			ASAP	\$16.50	
			Pieces Weight	\$0.00 \$0.00	
POD: chelsey McAl	ister	Orde	r Total:	\$16.50	
		l in Engineering Inc	Mallan Count		Dw.E404 0474 -00
5/20/2024 10:39 AM Direct	1727371	Lja Engineering Inc 1904 W Grand Pkwy N Suite 100	425 FM 1488	y Engineering Depa	John Tyler
5/20/2024 12:02 PM		Katy TX 77449		X 77445-9634	
			Direct	\$46.00	
			Pieces	\$0.00	<
			Weight	\$0.00	
POD: M Kelley		Orde	r Total:	\$46.00	
5/20/2024 12:02 PM	1727398	Lja Engineering, Inc.	Ashton Wood	-	2022-0201
ASAP 5/20/2024 1:15 PM	LJAMailroom	3600 W Sam Houston Pkwy S Mail Houston TX 77042-3768	4920 Westwa Houston TX 7	ny Park Blvd Suite 1	
5/20/2024 1.15 FM	7133418022	Houston 1X //042-3/66	nousion ix a	77041	3600
			ASAP	\$24.50	
			Pieces	\$0.00	
	D.		Weight	\$0.00	
POD: Vanessa Rod	riguez	Orde	r Total:	\$24.50	
5/20/2024 1:39 PM	1727398.01	Ashton Woods	Vanessa Roo	***	2022-0201
ASAP	I IAAAailaaaaa	4920 Westway Park Blvd Suite 125			DeAndre Rucker-Nikan Ba
5/20/2024 2:18 PM	LJAMailroom 7133418022	Houston TX 77041	Houston TX 7	77020	3600
			ASAP	\$37.00	
			Pieces	\$0.00	
			Weight	\$0.00	
POD: Vanessa Rod	riguez	Orde	r Total:	\$37.00	
5/20/2024 12:08 PM	1727399	Lja Engineering, Inc.	LJA Engineer		PrintRecap.000
ASAP 5/20/2024 1:52 PM	Ljamailroom 7133418022	3600 W Sam Houston Pkwy S Suite Houston TX 77042-3768	1904 W Gran Katy TX 7744	-	DeAndre Rucker-Katy Offi 3600
	/ 1334 10022		ASAP	\$31.00	
			Pieces	\$0.00	
			Weight	\$0.00	
POD: Tanya Wrobin	ewski	Orde	r Total:	\$31.00	



Tracking ID: 1727371

Origin

Lia Engineering Inc 1904 W Grand Pkwy N Suite 100

Katy, TX 77449

Destination

Waller County Engineering Department

1

2024-05-20 10:48 AM CDT

2024-05-20 10:48 AM CDT

425 FM 1488

Pieces

Weight

Dispatched

Total Charges

Billing Group

Hempstead, TX 77445

Ordered By Lja Engineering Inc

(713) 380-4420

Pm5121-2471.z99 References

Reference 2 John Tyler

Service Type

Order Type Direct

Ordered 2024-05-20 10:39 AM CDT

Dispatched

2024-05-20 10:48 AM CDT Picked Up

2024-05-20 11:21 AM CDT

Delivered 2024-05-20 12:02 PM CDT

\$46.00

BillingGoup

Proof of Delivery:

Name

M Kelley

Comment

Ready

Date/Time 2024-05-20 12:02 PM CDT